RS AS IB RB TS DB DA IR ER IS  Unit
Cm 104 104 130 130 100 100 84 40 104 84 pF
gL 4.3 4.3 18 8 9 6 5 6 4.4 5) nS
Ey -64  -52.5  -56 -85  -b6  -62.5 -52.5 -59.6 -54.4 -52.5 mV
Vin, -58 -52 -53 -04 52 -55 -52 -58 -55 -52  mV
Ar 0.8 0.8 2 2 1.2 1.2 0.8 2 0.9 0.8 mV
a 0 2 2 3 o1 -0.1  -0.5 1 0 -0.5  pA
Tw 20 300 150 110 300 20 150 200 150 150  ms
b 0.5 ) 50 60 150 35 0 20 5 0 pA
Vieset -61 -54  -52.5  -50  -B0 -53 -56 -58 -58 -54 mV
tref 0 0 0 0 0 0 0 0 0 0 ms
E, -60 -45 -52 -00  -52 -60 -45 -99 -o1 -45  mV
o 1 1 1 1 1 1 1 1.5 1 0.5
Eq -40 -35 -20 -35 =30 -20 -35 -35 0 20 mV
Ey -46 -45 -45 -45 45 -45 -45 -60 -35 -35 mV
€0 0.5 0.5 0.5 0.5 0.5 5 ) 5 ) 2
€c 0.15 015 015 0.15 0.15 1.5 1 2 2 0.3
4] 0.02 0.02 002 0.02 002 0.1 0.4 0.2 0.5 0.15
vy 1000 200 200 300 200 500 200 500 200 200 pA
Te 500 500 500 150 500 50 200 100 500 2000 ms
Ixarp 1 1 1 1 1 100 100 5 1 100 pA
Tiow 50 50 100 100 85 o7 40 -36 30 10 pA
Tnign 300 200 250 300 400 300 100 200 100 250 pA

S3 Table. Parameters used for the different behaviors of the mAdExp model on Fig 6.



